
 

 

APPOLO STUDY CENTRE 
TET Paper I 

 
Part I - CHILD DEVELOPMENT AND PEDAGOGY 
Foe;ij Nkk;ghL kw;Wk; fw;gpj;jy;Foe;ij Nkk;ghL kw;Wk; fw;gpj;jy;Foe;ij Nkk;ghL kw;Wk; fw;gpj;jy;Foe;ij Nkk;ghL kw;Wk; fw;gpj;jy;    
 
1. ‘Mnemonics’ vd;gJ _______ cld; njhlh;GilaJ. 
a. epNkhdpah   b. epidT   c. ,uj;jNrhif d. kwjp 
‘Mnemonics’ is related to  
a. Pneumonia b. Memory  c. Anaemia  d. Amnesia 
 

2. ,d;iwa #oypy; Foe;ijfsplk; kpf Kf;fpakhf ,Uf;f Ntz;ba xd;W 
a. Ez;zwpT  b. MSik  c. ey;nyhOf;fk; d. mDgtk; 
In the present situation, the children must possess an important factor of 
a. intelligence  b. personality  c. moral value d. experience. 
 

3. ‘$l;lhspf; FOg; gUtk;’ vd;W miof;fg;gLk; gUtk; 
a. Foe;ijg; gUtk;   b. gps;isg;gUtk; 
c. Fkug; gUtk;    d. eLj;jutaJ gUtk; 
‘Gang age period’ is 
a. Infancy  b. Childhood  c. Adolescence  d. Middle age. 
 

4. tPurhfrq;fs; Ghpgthplk; Jzpr;ry; kw;Wk; ________ kpFe;J fhzg;gLk;. 
a. ghpT  b. md;G  c. cly;typik d. kdtypik 
Adventurers have more braveness and  
a. sympathy b. love  c. physical strength d. mental strength. 

 
5. kdpj kdntOr;rpapd; ntspg;ghL fPo;f;fhZk; thpirapy; mikAk; vd kf;̂ fy; 
fUJfpwhh;. 
a. nray; → czh;T → mwpT 
b. mwpT → #o;epiy → clypaf;fk; 
c. mwpT → czh;;T → clypaf;fk; 
d. kdntOr;rp → czh;T → mwpT 
McDougall says that the emotional expressions of human being occur in which 
of the following sequence? 
a. Action → Affection → Cognition 
b. Cognition → Environment → Conation  



 

 

c. Cognition → Affection → Conation  

d. Emotion → Affection → Cognition 
 

6. ,Ug;gjpy; rpwe;jtw;iw Foe;ijfSf;F toq;f kdpj ,dk; fld;gl;Ls;sJ vd 
I.eh. rig ______ y; gpufldg;gLj;jpaJ. 
a. 1969> Mf;;];l; 15   b. 1969> Vg;uy; 20 
c. 1959> [_iy 16   d. 1959> etk;gh; 20 
“It is the duty of mankind to give the best to the children” – UNO proclaimed 
it on 

 a. 1969, August 15   b. 1969, April 20 
 c. 1959, June 16    d. 1959, November 20. 
 
7. mr;R kw;Wk; kpd; Clfq;fspy; Kd;dpiyg;gLj;jg;gl Ntz;bait 
a. tho;f;ifapd; Vw;Wf;nfhs;sf;$ba vjph;kiwahd gFjp 
b. tho;f;ifapd; Vw;Wf;nfhs;sf;$ba Neh;kiwahd gFjp 
c. tho;f;ifapd; Neh;kiw> vjph;kiwahd gFjp 
d. tho;f;ifapd; kfpo;r;rpaw;w gFjp. 
Print media and electronic media must project 
a. acceptable negative side of life 
b. acceptable positive side of life 
c. positive and negative sides of life 
d. seamy side of life 

 
8. Mrphpah; fUj;Jg;nghopT Kiwia mbf;fb gad;gLj;Jtjd; %yk; ________ 
a. mf;fj;jpwd;  b. Ez;zwpT  c. Gyd;fhl;rp d. epidT 
With the frequent use of brain storming method the teacher develops 
a. creativity   b. intelligence  c. perception  d. memory 
 

9. jpwdha;Tr; rpe;jidiaj; J}z;LtJ 
a. Kd; %is b. tyJ %is c. ,lJ %is d. gpd; %is 
Critical thinking is induced by 
a. fore brain  b. right brain  c. left brain  d. hind brain 
 

10. irdbf;]; vd;Dk; Mq;fpyr; nrhy;ypd; nghUs; 
a. gy;NtW nghUs;fisg; gphpj;jy; 
b. gy;NtW nghUs;fis xUq;fpizj;jy; 
c. nghUl;fis xg;gpLjy; 
d. gy;NtW nghUl;fis tbtikj;jy; 



 

 

The word ‘synatics’ means 
a. segregating different things 
b. organising different things 
c. comparing things 
d. designing different things 
 

11. jdf;Fk; gpwUf;Fk; kfpo;r;rpAk; gaDk; tpisfpd;w tifapy; vy;yh 
epiyfspYk; nghUj;jg;ghLld; nray;gLtJ 
a. #o;epiy rhh;e;jJ   b. kdeyk; rhh;e;jJ 
c. kdg;ghd;ik rhh;e;jJ  d. nghUshjhuk; rhh;e;jJ 
Adjusting in all stages and making happiness and usefulness to self and others 
is 
a. based on environment   b. based on mental health 

c. based on attitude    d. based on economy 
 

12. ftdj;jpd; CryhLk; jd;ikapd; fhy msT 
a. 5 – 20 tpdhbfs;    b. 10 – 15 tpdhbfs; 
c. 3 – 25 tpdhbfs;   d. 7 – 10 tpdhbfs; 
Period of fluctuation of attention is 
a. 5 – 20 seconds   b. 10 – 15 seconds 
c. 3 – 25 seconds   d. 7 – 10 seconds 
 

13. SQ3R Kiwahy; Nkk;gLj;jg;gLtJ 
a. ftdk;  b. ehl;lk;  c. Cf;fk;  d. epidT 
SQ3R method enhances 
a. attention  b. aptitude  c. motivation  d. memory 
 

14. ,d;W jpq;fs; fpoik> ehis kWehSf;F Ke;ija fpoik _________  
,J ve;j tif Nrhjid? 
a. nghJ mwpT   b. Ghpe;J nfhs;Sjy;  
c. fzpj Ma;T    d. nrhw;fsQ;rpak; 
Today is Monday, the day before after tomorrow will be ______ 
What type of test is this? 
a. General knowledge  b. Understanding 

c. Mathematical research d. Vocabulary 
 



 

 

15. xg;ghh; FO vd;gJ _______ %yk; Vw;gLfpwJ 
a. Mrphpah; + fl;Lg;ghlhd #oy; 
b. ngw;Nwhh; + Rje;jpukhd #oy; 
c. r%fk; + fl;Lg;ghlhd #oy; 
d. vjph;ghuhky; + Rje;jpukhd #oy; 
Peer group is formed by 
a. Teacher + Controlled environment 
b. Parents + Independent environment  
c. Society + Controlled environment  
d. Unexpected + Independent environment 
 

16. fw;wy; #oypy; fPo; cs;stw;Ws; rhpahd thpir vJ? 
a. fth;r;rp → ftdk; → epidT 
b. epidT → ftdk; → fth;;r;rp 
c. ftdk; → fth;r;rp → epidT 
d. epidT → fth;r;rp → ftdk; 
Which of the following is the correct sequence in learning environment? 
a. Interest → Attention → Memory 
b. Memory → Attention → Interest  
c. Attention → Interest → Memory  
d. Memory → Interest → Attention 
 

17. _______ epiyapy; Foe;ijfshy; fUj;jf;fis cUthf;f ,aYk; 
a. NgRtjw;F Kd;ghf  b. Ngr Muk;gpj;jTld; 
c. gps;isg; gUtj;jpy;  d. gps;isg; gUtj;jpw;Fg; gpd;  
Children are capable of forming concepts 
a. before  verbalisation   b. soon after verbalisation  
c. during childhood   d. after childhood 
    

18. tsh;r;rpfs; rhh; nray;fs; vd;w fUj;ij Kjd; Kjypy; gad;gLj;jpath; 
a. n`h;ghh;l;  b. G&dh;  c. `y;  d. `htpfh];l; 
The concept of developmental task was first used by 
a. Herbart   b. Bruner  c. Hull  d. Havighurst 

 
19. vy;yh khzth;fSf;Fk; xNu khjphpahd nray;fisf; nfhLj;jhYk; mth;fs; 
ntt;NtW tpjkhfg; Ghpe;J nfhs;tjw;Ff; fhuzk; 
a. ghypdk;  b. fw;wy; FiwghL c. mDgtk;  d. kuG. 



 

 

Because of ______ the students understand in different ways though they are 
given same type of activities.  
a. gender   b. learning disability c. experience   d. heredity 
 

20. RTE vd;gjd; tphpthf;fk; 
a. Right of children to free and compulsory education 
b. Right to teacher education  
c. Right of children to education  
d. Right towards education. 
Expansion of RTE is 
a. Right of children to free and compulsory education 
b. Right to teacher education  
c. Right of children to education  
d. Right towards education. 
 

21. fhh;Nghi`l;Nul;> Gujk; mfpatw;wpd; tsh;rpij khw;wj;ij xOq;FgLj;JtJ 
a. ,d;Rypd;  b. ijuhf;rpd;  c. Ml;hPdypd;  d. Md;rplhrpd; 
Hormone which regulates the carbohydrate and protein metabolism is 
a. Insulin  b. Thyroxine  c. Adrenaline  d. Oxytocine 
 

22. ‘mkPgh xU tpyq;F my;y’ vd;gJ 
a. Fiwgl nghJikg;gilj;jy;  b. kpifgl nghJikg;gilj;jy; 
c. fhuzq; fw;gpj;jy;    d. milahsq; fhZjy; 
‘Amoeba is not an animal’, it is  
a. restricted generalisation   b. extended generalisation 
c. rationalisation     d. identification 
 

23. gpahN[tpd; fUj;Jg;gb jd;id ikakhf;fp rpe;jpf;Fk; jd;ik fhzg;gLk; 
gUtk;  
a. Gyd; ,af;fg; gUtk;   

b. kdr; nray;ghl;Lf;F Ke;ija gUtk; 
c. fz;$lhfg; ghh;g;gijf; nfhz;L rpe;jpf;Fk; gUtk; 
d. Kiwahd kdr;nray;ghl;L gUtk;  
According to Piaget, Egocentrism occurs in 
a. sensory motor stage   b. pre-operational stage 
c. concrete operational stage  d. formal operational stage. 
 
 



 

 

24. kha xyp Njhd;wf; fhuzk; 
a. nrtp FiwghL    b. rpdk; 
c. nghwhik    d. ftiy 
 
Reason for auditory hallucination is 
a. auditory defect    b. anger 
c. jealous     d. worry 

 
25. jho;T kd;g;ghd;ik ______ Nehia Vw;gLj;Jtjpy; Kf;fpag; gq;F tfpf;fpwJ 
a. M];Jkh  b. Njhy;Neha;  c. ePhpopT Neha; d. %l;Ltyp 
Inferiority complex plays a vital role in causing the disease 
a. Asthma  b. Skin disease  c. Diabetes  d. Joint pain 
 

26. Foe;ijfsJ rhjidia ghuhl;Ljy; my;yJ Fiw$Wjy; vt;thW 
ghjpf;ff;$Lk; vd;gJ gw;wpf; $wpath; 
a. `h;yhf;  b. fhy;ld;  c. gpah;rd;  d. cl;]; 
‘Praising or criticising affects the success of the child’ is said by 
a. Hurlock  b. Galton  c. Pearson  d. Woods 
 

27. tFg;gpy; jd;dhy; KbAk; vd midj;J NtiyfisAk; Vw;Wr; nra;J kfpo;gth; 
a. Nghl;bahff; fw;gth;    b. gq;Nfw;Wf; fw;gth; 
c. ,ize;J fw;gth;    d. Rakhff; fw;gth; 
Who enjoys in doing all the works in the classroom voluntarily is 
a. competitive learner    b. participatory learner 

c. pair learner     d. individual learner 
 

28. fw;wy; tPjk; = 

a. 
fw; wy; Njh; r; rpapd; msT

fw; Wj; Njh; tjw; F vLj; Jf; nfhz;l Neuk;
 

b. 
fw; w ghlg; nghUs; msT

fw; Wj; Njh; tjw; F vLj; Jf; nfhz;l Neuk;
 

c. 
fw; wy; Njh; r; rpapd; msT

ghlg; nghUs; msT
 

d. 
fw; w ghlg; nghUs; msT

fiyj; jpl; l msT
 

 
 
 



 

 

Rate of leaning = 

A. 
Amount of learning proficiency achievement

Time taken to achieve the amount of learning
 

B. 
Amount of content learnt

Time taken to achieve the amount of learning
 

C. 
Amount of learning proficiency achieved

Amount of the content
 

D. 
Amount of the content learnt

Amount of the curriculum
 

 
29. gapw;rp mspf;fg;gl;l tsh;g;Gg; Gwhit mDg;gp Nfhtpy; NfhGuq;fspy; te;J 
cl;fhUk; fhl;Lg; Gwhf;fis fPopwq;fr; nra;J gpbj;jy; 
a. Kad;W jtwpf; fw;wy;    b. cw;W Nehf;fpf; fw;wy; 
c. nray;gL Mf;f epiyAWj;jk;  d. Mf;f epiyAWj;jk;  
By employing domesticated and trained pigeon, bringing down the wild 
pigeons sitting on temple towers is 
a. Trial and error learning   b. Observation learning 
c. Operant conditioning   d. Classical conditioning 

 
30. kfpo;r;rp juhj J}z;ly; kiwtjw;F Jyq;fy; fhuzkhf ,Ug;gpd; mJ 
a. Nehpil tYT+l;lk;  b kiwjy; 
c. vjphpil tYT+l;lk;  d. jz;lid 
If a response is responsible for the extinction of unpleasant stimuli, it is  
a. positive reinforcement   b. extinction 
c. negative reinforcement   d. punishment 

 

TAMIL 
 
31. Neha;f;F kUe;J ,yf;fpak; vd;W $wpath; 
a. fiythzh;   b.    kfhtpj;kfhtpj;kfhtpj;kfhtpj;Jthd; kPdhl;rp Re;judhh;Jthd; kPdhl;rp Re;judhh;Jthd; kPdhl;rp Re;judhh;Jthd; kPdhl;rp Re;judhh;    

c. ftpkzp   d. ghujpjhrd; 
 

32. ,uhkhD[d; rhjhuz kdpjuy;yh; mth; ,iwtd; je;jg; ghpR vdf; $wpath; 
a. Nguh <bngy. Nguh <bngy. Nguh <bngy. Nguh <bngy;   b. vbrd; 
c. yhh;l;nkz;l;yz;l;  d. rhh;y]; 
 

33. thzpjhrd; gpwe;j Ch; 
a. kJiu  b. Nfush  c. tq;fhsk;  d. tpy;ypaD}H. tpy;ypaD}H. tpy;ypaD}H. tpy;ypaD}H 



 

 

34. kJiu tPjpfspd; ngah;fspy; ,J xd;wy;y 
a. $ytPjp  b. nghd;tPjp  c. kd;dh;tPjp d. ghzh; tPjp. ghzh; tPjp. ghzh; tPjp. ghzh; tPjp    
 

35. cyifNa eLq;fr; nra;j nfhLq;Nfhyuhf `pl;yh; ,Ue;jhYk;> mtiuNa 
kd;dpg;Gf; Nfl;f nra;j khtPud; 
a. jhk]; My;th vbrd;  b. rhh;y]; 
c. G.U. Nghg;    d. nrz;gfuhkd;. nrz;gfuhkd;. nrz;gfuhkd;. nrz;gfuhkd;    
 

36. tpf;Nlhpah kfhuhzpahh; fhiyapy; fz; tpopj;jJk; Kjypy; gbf;Fk; E}y; 
a. iggps;  b. jpUf;Fws. jpUf;Fws. jpUf;Fws. jpUf;Fws; c. jpUthrfk; d. Nkhl;rgazk; 
 

37. kiyAk; kiyr; rhh;e;j ,lKk; 
a. Ky;iy  b. kUjk;  c. nea;jy;  d. FwpQ;rp. FwpQ;rp. FwpQ;rp. FwpQ;rp    
 

38. vOj;Jf;fspd; gpwg;ig ,lg;gpwg;G> _______ vd ,Utifahfg; gphpf;fyhk; 
a. xypg;gpwg;G. xypg;gpwg;G. xypg;gpwg;G. xypg;gpwg;G  b. Kaw;rp gpwg;G  
c. ehgpwg;G   d. mz;zg;gpwg;G 
 
 

39. jkpo; vz;ZUf;fis vOJf. 19> 25: 
a. fm  b.    f$cUf$cUf$cUf$cU     c. cc  d. ff 
 

40. GJf;ftpij tsh;r;rpapy; _______ gq;F Nghw;wj;jf;fJ 
a. ty;ypf;fz;zd;. ty;ypf;fz;zd;. ty;ypf;fz;zd;. ty;ypf;fz;zd;  b. ghujpahh; 
c. ituKj;J   d. Rujh 
 

41. ghk;G tptrhapfspd;  
a. giftd;  b. ez;gd;. ez;gd;. ez;gd;. ez;gd;     c. cwtpdd; d. rNfhjud; 
 

42. Foe;ijfs; kfpo;r;rpAld; Muthhpj;Jg; ghLk; tpisahl;Lg; ghly;fs; 
a. jhyhl;Lg; ghly;fs;  b. topghl;Lg; ghly;fs; 
c. njhopy; ghly;fs;  d. ehl;Lg;Gwg; ghly;fs;. ehl;Lg;Gwg; ghly;fs;. ehl;Lg;Gwg; ghly;fs;. ehl;Lg;Gwg; ghly;fs; 
 

43. Mw;Wzh vd;gjd; nghUs; 
a. Mwpa czT   b. ey;y czT 
c. fl;Lr;NrhW. fl;Lr;NrhW. fl;Lr;NrhW. fl;Lr;NrhW    d. rikj;j czT 
 

44. jh$hpd; tpRtghujp fy;Y}hp _______ khepyj;jpy; cs;sJ 
a. F[uhj;    b. Nkw;Ftq;fhsk;. Nkw;Ftq;fhsk;. Nkw;Ftq;fhsk;. Nkw;Ftq;fhsk;    

c. m];]hk;   d. gPfhh; 
 



 

 

45. gd;dpuz;L tajpNyNa kw;Nghh;> rpyk;gk;> ths; tPr;R vd 
tPuf;fiyfisnay;yhk; fw;Wj; Njh;e;jpUe;j rpWtd; 
a. ghz;ba neLQ;nropad;. ghz;ba neLQ;nropad;. ghz;ba neLQ;nropad;. ghz;ba neLQ;nropad;  b. Gypj;Njtd; 
c. tPug;ghz;bad;    d. ,katuk;gd; 
 

46. jQ;irg; nghpa Nfhapy; FlKOf;F eilngw;w Mz;L 
a. fp.gp. 1010. fp.gp. 1010. fp.gp. 1010. fp.gp. 1010  b. fp.gp. 1500 
c. fp.gp. 1020  d. fp.gp. 2000 
 

47. nghUs; $Wf: Fit 
a. $l;lk;  b. Ftpay;Ftpay;Ftpay;Ftpay;  c. Fk;gy;  d. Nfhh;j;J 

 
48. epfz;Lfspy; goikahdJ vJ? 

a.    Nre;jd; jpthfuk;Nre;jd; jpthfuk;Nre;jd; jpthfuk;Nre;jd; jpthfuk;  b. kz;ly GUlh; 
c. mfuhjp    d. rJufuhjp 
 

49. mwptpay; fiyr;nrhy; fsQ;rpak; ________ Mz;L ntspaplg;gl;lJ 
a. 1993  b. 1991 c. 1990  d. 1992 
 
 

50. Mq;fpNyaiu vjph;j;J MAjk; Ve;jpg; Nghuhba Kjyh; ngz;kzp 
a. NtYehr;rpahh;. NtYehr;rpahh;. NtYehr;rpahh;. NtYehr;rpahh;      b. mQ;riyak;khs; 
c. mk;G[j;jk;khs;   d. it.K. Nfhijehafp mk;khs; 
 

51. ntsthy; kuj;jpy; 
a. njhq;Fk;njhq;Fk;njhq;Fk;njhq;Fk;     b. cwq;Fk;  c. MLk;  d. ,Uf;Fk; 
 

52. Nfhbl;l ,lj;ij epug;Gf: 
ftpkzp Njrpf tpehafk; gps;is ,aw;wp E}y; ______ 
a. ghz;bad; ghpR  b. ghg;gh ghl;L 
c. FLk;g tpsf;F   d.    ckh;fa;ahk; ghly;fs;ckh;fa;ahk; ghly;fs;ckh;fa;ahk; ghly;fs;ckh;fa;ahk; ghly;fs;    
 

53. vOj;jhsh; njhl;L vOjf;$lhj ik 
a. ngUik  b.    ngha;ikngha;ikngha;ikngha;ik     c. J}a;ik  d. cz;ik 
 

54. _____ vd;Dk; E}ypy; njhz;Z}w;W xd;gJ tifahd G+f;fspd; ngah;fs; 
,Ue;jd. 
a. Ky;iyg;ghl;L   b. FwpQ;rpg;ghl;L. FwpQ;rpg;ghl;L. FwpQ;rpg;ghl;L. FwpQ;rpg;ghl;L    

c. gl;bdg;ghiy   d. gjpw;Wg;gj;J 
 
 



 

 

55. gwitfis _______ tifahfg; gphpf;fyhk; 
a. Ie;JIe;JIe;JIe;J     b. MW  c. %d;W  d. vl;L 
 

56. epNtjdk; vd;w nrhy;ypd; nghUs; 
a. czT    b. mWRit czT  

c. ey; czT  d. gilaKJ. gilaKJ. gilaKJ. gilaKJ    
 

57. fdfk; vd;gjd; nghUs; 
a. nry;tk;  b. nghd;. nghd;. nghd;. nghd;     c. kzp  d. Kj;J 
 

58. khd tp[ak; vd;Dk; ehlfk; ______ vd;Dk; ,yf;fpaj;ij mbg;gilahff; 
nfhz;lJ 
a. fhh; ehw;gJ  b. fstop ehw;gJ 
c. mfehD}W  d.    GwehD}GwehD}GwehD}GwehD}WWWW    
 

59. jkpo; ehlfj; je;ij vd;W ,d;wsTk; cyfk; Nghw;wp tzq;Fgth; 
a. gk;ky; rkge;jdhh;gk;ky; rkge;jdhh;gk;ky; rkge;jdhh;gk;ky; rkge;jdhh;     b. gl;Lf;Nfhl;il 
c. rq;fujhr Rthkpfs;  d. nj.ngh. fpU~;zrhkp 
 
 

60. fha;fspd; ,sik kuG ngaiu vLj;J vOJf. 
mtiug; G+Q;R> thio ______ 
a. G+   b. fha;  c. fr;ry;. fr;ry;. fr;ry;. fr;ry;  d. %R 

 
PART III – LANGUAGE PAPER ENGLISH 
 
61. Find the italicized part in the sentence that is incorrect: 

In some Counties in 
1

in Europe
teachers 

2

are allowed

3

giving
 children some home 

work only 
4

at weekends
 

a. 1  b. 2  c. 3  d. 4 
 
62.  Choose the correct form of the verb to complete the sentence: 
When _____ this morning? 
a. did you woke up  b. did you wake up 
c. have you woken up  d. were you woke up 
 
 



 

 

63. Choose the correct answer form of the verb to complete the sentence: 
We _____ volleyball yesterday 
a. played   b. have played 
c. had played  d. have been playing 
 

64.  Choose the correct word to complete the sentence: 
There is very _____ petrol in the year. I’ll buy some when I go out. 
a. few  b. much  c. a little  d. little 

 
65.  Choose the correct word to complete the sentence: 
He apologized _____ being late 
a. to  b. for  c. on  d. of 
 
Read the passage given below and choose the best answer for each of the 
questions 

Most human beings are awake during the day and sleep at night. Owls 
live the opposite way. Owls are nocturnal. This means that they sleep all day 
and stay awake at night. Because owls are nocturnal, this means they must eat 
at night. But finding food in the dark is difficult. To help them, they have a 
special eyes and ears. 

 
Owls have very large eyes. These eyes absorb more light than normal. 

Since there is little light during the night. It is helpful to be able to absorb more 
of it. This helps owls find food in the dark 

 
Owls also have very good hearing. Even when owls are in the trees, they 

can hear small animals moving in the grass below. This helps owls catch their 
prey even when it is very dark. 
 
 Like owls, mice are also nocturnal animals. Mice have an excellent sense 
of smell. This helps them find food in the dark. 
 
 Being nocturnal helps mice to hide from many different animals that 
want to eat them. Most of the birds, snacks and lizards that like to eat mice  
sleep at night – except, of course, owls!   
 



 

 

66. The word ‘diurnal’ is the opposite of the word ‘nocturnal’. Using information 
in the passage, we can understand that an animal that is ‘diurnal’ 

a. sleeps at night and is awake during the day 
b. hunts during the day and is awake at night 
c. sleeps every other night and is awake during the day 
d. hunts at night and sleeps during the day 
 

67.  Based on information in Paragraph 2, it can be understood that an animal with 
small eyes 
a. must b4e diurnal   b. has trouble seeing in the dark 
c. can see very well at night  d. must be nocturnal 
 

68.  According to the passage, owls can find food in the dark using their sense of 
a. sight only    b. sight and sound 

c. sight, sound and smell  d. sight and smell 
 

69. In paragraph 3 the author writes. “This helps owls catch their prey even when 
it is very dark”. What is prey? 
a. a noise that an animal makes during the night 
b. A small animal such as a pet dog or cat 
c. An animal that is hunted by other animals 
d. An enemy 
 

70.  According to the passage, mice sleep during the day in order to 
a. find food that other animal cannot 
b. keep themselves safe 
c. store energy for night time activities 
d. stay awake at night 
 

71.  Using the information in the last paragraph, itcan be understood that 
a. owls hunt mice 
b. mice can hide from owls 
c. mice and owls both hide from birds, snakes and lizards 
d. owls sleep at night 
 
 



 

 

72.  Which of the following conclusions would work best at the end of this 
passage? 
a. The owl is a nocturnal animal. This means it is active at night. The owl’s 
excellent sense of sight and sound enables it to find food in the dark. 

b. Mice are nocturnal animals. This means they are active at night. Similar 
to the owl. Mice use their excellent sense of smell to find food in the dark 

c. Some animals are nocturnal. This means they are active at night. the 
owl and the mouse are good examples of animals but the use their 
senses to find food in the dark 

d. The owl and the mouse sleep during the day and stay awake at night 
 

73. Choose the right question to get italicized part as the answer 
The Children are sitting in the garden 

 a. Where do children sit?   
b. Where have the children been sitting? 
c. Where are the children sitting? 
d. Where are they sitting? 
 

74. Find out the pronounced differently from the others 
I. blood 
II. moon 
III. soon 
IV. mood 
a. I  b. II  c. III  d. IV 
 

75. Find the word that is pronounced differently from the others 
I. bear 
II. dare 
III. fare 
IV. dear 
a. I  b. II  c. III   d. IV 

 
76. Find the word that is pronounced differently from the others 

I. enjoyed 
II. jumped 
III. died 
IV. filled 
a. I  b. II  c. III  d. IV 



 

 

77. Find the italicized part in the sentence that is incorrect 
It is a well idea to encourage boys to learn to cook 
           1                 2                            3             4 
a. 1  b. 2   c. 3   d. 4 
 

78. Choose the word which has almost the same meaning as the italicized one 
I help them to assemble the different parts 
 
a. manufacture  b. store  c. check  d. fit 

 
79. Choose the correct antonym for the italicized word 
Travelling is considered very dangerous 
a. harmful  b. peaceful  c. safe  d. exciting 
 

80. Choose the correct antonym for the italicized word 
This is a common thing 
a. strange  b. funny  c. real  d. special 
 

81. Read the short conservation given below. Identify the language function in the  
italicized sentence 
Shrimathy  : That remark was uncalled for 
Venu  : I’m Sorry. I shouldn’t have said it 
a. apologizing b. wishing  c. blaming   d. forgiving  
  

82. Read the short conservation given below. Identify the language function in the 
italicized sentence 
Arun  : What shall we do this weekend? 
Sheela : Why don’t we go on a picnic? 
a. welcoming b. inviting  c. suggesting d. advising 
 

83. Choose the correct question tag 
Mary has answered all the questions ……………..? 
a. doen’t she        b. didn’t she   c. wasn’t she d. hasn’t she 

 
84. Choose the correct question tag 
Hanif wasn’t listening ………….? 
a. was he  b. has he  c. did he  d. isn’t he 



 

 

 
85. Choose the right question to get the italicized part as the answer 
Hari is writing a letter 
a. What does Hari write?   b. What is Hari writing? 
c. Who is writing a letter?   d. What is Hari doing? 
 

86. Choose the correct word to complete the sentence 
We are satisfied ……….. our son’s progress this term 
  a. for b. on  c. about  d. with 

 
87. Which of the following is a form of the verb ‘be’? 
a. may  b. am  c. can  d. will 
 

88. The passive form of the sentence ‘The Blue team won the game’ is 
a. The game is won by the blue team 
b. The game has been won by the blue team 
c. The game had been won by the blue team 
d. the game was won by the blue team 

 
89. The reported form of the question Renu said to me, “Is the movie interesting ?’ 
is 
a. Renu asked me if the movie was interesting 

b. Renu asked me if the movie has been interesting 
c. Renu asked me if the movie is interesting 
d. Renu asked me if the movie had been interesting 
 

90. Choose the word which has almost the same meaning as the italicized one 
She seldom goes to conference 
a. nearly  b. rarely  c. slightly  d. incredibly 

 



 

 

PART IV 
gFjp gFjp gFjp gFjp –    IV    

 
MATHEMATICS 

fzpjk;fzpjk;fzpjk;fzpjk;    
 
91. xU Fsph;rhjdg;ngl;bapd; kPJ 9% tpw;gid thp tPjk; tpw;gid thp &.1>170 
vdpy; mjd; mlf;ftpiy 
a. &.10>530  b. &.12>960  c. &.13>000  d. &.20>000 
The sales tax on a refrigerator at the rate of 9% is Rs.1,170, then the actual sale 
price is 
a. Rs.10,530  b. Rs.12,960  c. Rs.13,000  d. Rs.20,000 

 
92. uhKtpd; jw;Nghija taJ mtUila je;ijapd; tajpy; ghjpahFk;. 
gjpide;J Mz;LfSf;F Kd;G je;ijapd; tajhdJ uhKtpd; taijg;Nghy; 
Kk;klq;fhf ,Ue;jJ vdpy; mth;fspd; jw;Nghija taJ 
a. 42, 84  b. 24, 84  c. 40, 80  d. 24, 48 
Ramu is now half as old as his father. Fifteen years ago the father’s age was 
three times as old as Ramu. Then their present ages are 
a. 42, 84  b. 24, 84  c. 40, 80  d. 24, 48 
Note: Given Options are wrong; Correct Answer is: 30, 60 

 
93. <];thp xt;nthU khjj; Jtf;fj;jpYk; &.350 I Xh; mQ;ryfj;jpy; 6 
Mz;LfSf;F nrYj;jp te;jhs;> Kbtpy; mts; &.32>865 ngw;whs;. fpilj;j 
tl;b tPjk; 
a. 6%  b. 10%  c. 15%  d. 8% 
Easwari deposited Rs.350 per month for 6 years in a recurring deposit account 
in a post office. If she received Rs.32,865, then the rate of interest is 
a. 6%  b. 10%  c. 15%  d. 8% 
 

94. xU cUisapd; Muk; kw;Wk; cauj;jpd; tpfpjk; 5 : 7. NkYk; mjd; fd 
msT 4400 f.nr.kP vdpy; mt;TUisapd; Muk; 
a. 10 nr.kP  b. 25 nr.kP  c. 15 nr.kP  d. 20 nr.kP 
The radius and height of a cylinder are in the ration 5 : 7. If its volume is 440 
cu. cm then the radius of the cylinder is 
a. 10 cm  b. 25 cm  c. 15 cm  d. 20 cm 
 



 

 

95. 21 nr.kP gf;f msTila ABCD vd;w rJuj;jpd; epoyplg;gl;l gFjpapd; 
gug;gsT 
 

 
 
a. 140 nr.kP2  b. 256 nr.kP2  c. 252 nr.kP2 d. 272 nr.kP2 
 
Find the area of the shaded portions in the figure, where ABCD is a square of 
side 21 cm. 
a. 140 cm2  b. 256 cm2  c. 252 cm2  d. 272 cm2 
 

96. xU Kf;Nfhzj;jpd; %d;W Nfhzq;fspd; ,Urk ntl;bfs; re;jpf;Fk; Gs;sp 
mk;Kf;Nfhzj;jpd; 
a. Rw;W tl;likak;  b. nrq;Nfhl;L ikak; 
c. eLf;Nfhl;L ikak;  d. cs;tl;l ikak; 
The three angle bisectors of a triangle are concurrent and the point of 
concurrence is called the 
a. circumcentre   b. orthocenter 
c. centroid    d. incentre 

 
97. r1, r2 I Muq;fshff; nfhz;l ,U tl;lq;fs; cl;Gwkhf njhLkhdhy; tl;l 
ikaq;fSf;F ,ilNa cs;s J}ukhdJ _________ rkkhdJ 
a. r1 + r2  b. 2r1  c. 2r2  d. r1 – r2 
If two circles of radii r1 and r2 touch internally, the distance between their 
centres is equal to 
a. r1 + r2  b. 2r1  c. 2r2  d. r1 – r2 
 

98. A, B, C vd;gth;fs; xU Ntiyia KiwNa 12> 15> 20 ehl;fspy; Kbg;ghh;fs;. 
,k;%tUk; Nrh;e;J xU Ntiy nra;jdh;. gpd; B tpyfp tpLfpwhh; vdpy; A, C 
,UtUk; kPjKs;s Ntiyia Kbf;f vLf;Fk; ehl;fs; vj;jid? 
a. 8 ehl;fs;  b. 7 ehl;fs; c. 9 ehl;fs; d. 6 ehl;fs; 



 

 

A, B and C can do a work in 12, 15 and 20 days respectively. They all work for 
one day. Then B leaves the group. In how many days will A and C complete 
the rest of the work? 
a. 8 days  b. 7 days  c. 9 days  d. 6 days 

 
99. xU rhptfj;jpd; gug;G 33.32 nr.kP2 kw;Wk; mjd; xU gf;f msT 8 nr.kP. 
cauk; 5.6 nr.kP vdpy; kw;nwhU gf;f msT 
a. 11.9 nr.kP  b. 3.9 nr.kP  c. 8.9 nr.kP  d. 5.9 nr.kP 
Area of a trapezium is 33.32 cm2. Its one side is 8 cm and height 5.6 cm, then 
the another side is 
a. 11.9 cm  b. 3.9 cm  c. 8.9 cm  d. 5.9 cm 
 

100. 17, 15, 9, 13, 24, 7, 12, 21, 10, 24 vd;w Gs;sp tptuq;fspd; KfL kw;Wk; 
,ilepiyasT fz;L mtw;wpd; ruhrhp kjpg;G 
a. 21  b. 24  c. 19  d. 14 
The mean of the mode and median of the following data 
17, 15, 9, 13, 24, 7, 12, 21, 10, 24 
is 
a. 21  b. 24  c. 19  d. 14 
 

101. x – y = 6, xy = 4 vdpy; x3 – y3 d; kjpg;g 
a. 272  b. – 288  c. 248  d. 288 
If x – y = 6 and xy = 4 then the value of x3 – y3 is 
a. 272  b. – 288  c. 248  d. 288 
 

102. x3 – 3x2 – x + 3 vd;w gy;YWg;Gf; Nfhitapd; xU fhuzp (x + 1) vdpy; 
mjd; kw;w fhuzpfs; 
a. (x – 1), (x – 3)   b. (x – 1), (x + 2) 
c. (x + 1) (x + 3)   d. (x + 1), (x – 3) 
If one of the factors of the expression x3 – 3x2 – x + 3 is (x + 1), then the other 
factors are 
a. (x – 1), (x – 3)   b. (x – 1), (x + 2) 
c. (x + 1) (x + 3)   d. (x + 1), (x – 3) 
 

103. ,U vz;fs; 5 : 3 vd;w tpfpjj;jpy; cs;sd. mtw;wpd; NtWghL 18 
vdpy; mt;ntz;fs; 
a. 42, 57  b. 54, 72  c. 45, 27  d. 47, 52 



 

 

Two numbers are in the ratio 5 : 3. If they differ by 18, then what are the 
numbers? 
a. 42, 57  b. 54, 72  c. 45, 27  d. 47, 52 
 

104. 3a2 bc, 5 ab2 c, 7 abc2 d; kP.ngh.k vd;gJ 
a. 35 a2 bc2   b. 105 a2 b2 c2 

c. 15 a2 b2 c2   d. 105 abc 
The LCM of 3a2 bc, 5 ab2 c, 7 abc2 is 
a. 35 a2 bc2   b. 105 a2 b2 c2 
c. 15 a2 b2 c2   d. 105 abc 
 

105. 11 Ngdhf;fspd; mlf;ftpiy 10 Ngdhf;fspd; tpw;w tpiyf;F rkk; vdpy; 
,yhg rjtPjk; 
a. 10%  b. 100%  c. 11%  d. 21% 
The cost price of 11 pens is equal to the selling price of 10 pens. The profit per 
cent is 
a. 10%  b. 100%  c. 11%  d. 21% 
 

106. miu tl;l tbtpyhd g+q;fhtpd; Muk; 14 kP xU kPl;lUf;F &. 8 tPjk; 
mjw;F Rw;WNtyp mikf;f MFk; nryT 
a. &.576  b. &.657  c. &.756  d. &.765 
A park is in the shape of semicircle with radius 14 m. The cost of fencing it at 
the cost of Rs.8 per metre is 
a. Rs.576  b. Rs.657  c. Rs.756  d. Rs.765 
 

107. uhFy; &.5>000 I Mz;L 8% vspa tl;b tPjj;jpy; itg;Gepjpahf 
nrYj;Jfpwhh;. vj;jid tUlq;fspy; &.5>800 I mth; ngWthh;? 
a. 3 tUlq;fspy;  b. 2 tUlq;fspy; 
c. 4 tUlq;fspy;  d. 5 tUlq;fspy; 
Rahul invested Rs.5,000 at the rate of 8% simple interest per annum. He 
received Rs.5,800 after some years. The number of years is 
a. 3 years  b. 2 years  c. 4 years  d. 5 years 
 

108. 100 khzth;fspd; kjpg;ngz;fs; ruhrhp 40 vd;W fzf;fplg;gl;lJ. gpd;G 
53 vd;w kjpg;ngz; 83 vd;W jtWjyhf vLf;fg;gl;lJ njhpate;jJ. rhpahd 
kjpg;ngz;fisf; nfhz;L rhpahd ruhrhp 
a. 39.7  b. 37.9  c. 29.7  d. 27.9 



 

 

The mean mark of 100 students was found to be 40. Later on, it was found that 
a score of 53 was misread as 83. The correct mean corresponding to the correct 
score is 
a. 38.7  b. 37.9  c. 29.7  d. 27.9 
 

109. 5 vz;fspd; ruhrhp 32. mt;ntz;fspy; xd;iw ePf;Fk;NghJ ruhrhpahf 4 
Fiwe;jhy; ePf;fg;gl;l vz; 
a. 84  b. 42  c. 48  d. 24 
The mean of the 5 numbers is 32. If one of the numbers is excluded, then the 
mean is reduced by 4. The excluded number is 
a. 84  b. 42  c. 48  d. 24 
 

110. nrt;tf tbtKs;s xU Njhl;lj;jpd; msTfs; 30 kP x 20 kP. 
Njhl;lj;ijr; Rw;wp ntspg;Gwj;jpy; 1.5 kP. mfyj;jpy; xU rPuhd ghij 
rJukPl;lUf;F &.6 tPjk; mikf;fg;gLfpwJ vdpy; mjd; nkhj;j nryT 
a. &.495  b. &.754  c. &.854  d. &.954 
A garden is in the form of a rectangle of dimension 30 m x 20 m. A path of 
width 1.5 m is laid all around the garden on the outside at the rate of Rs.6 per 
sq.m. What is the total expense? 
a. Rs.495  b. Rs.754  c. Rs. 854  d. Rs. 954 
 

111. RUf;Ff: 3 3 3
2. 40 3. 625 4. 320+ −  

a. 3
16. 2   b. 3

5. 3   c. 3
3. 5   d. 3

3. 4  

simplify: 3 3 3
2. 40 3. 625 4. 320+ −  

a. 3
16. 2   b. 3

5. 3   c. 3
3. 5   d. 3

3. 4  
 

112. xU tl;lj;jpy; Gs;sp A y; tiuag;gLk; njhLNfhL DE, AB tl;lj;jpd; 
ehz; NkYk; 65BAC∠ = °  kw;Wk; 58BAE∠ = °vd;W mikAkhW tl;lj;jpd; Nky; 
cs;s Gs;sp C vdpy; ABC∠  d; kjpg;G 

 

a. 180˚  b. 90˚  c. 57˚  d. 123˚ 
 



 

 

113. 42 nr.kP MuKs;s xU tl;lj;jpypUe;J 240˚ ikaf;Nfhzk; nfhz;l xU 
tl;lf;Nfhzg;gFjpia ntl;b vLj;J> mjd; Muq;fis xd;wpizj;J xU 
$k;ghf;fpdhy; fpilf;Fk; $k;gpd; tisgug;G 
a. 4624 nr.kP2   b. 3696 nr.kP2 
c. 6369 nr.kP2   d. 6639 nr.kP2 
A sector containing an angle of 240˚ is cut off from a circle of radius 42 cm and 
folded into a cone, then the curved surface area of the cone is 
a. 4624 cm2    b. 3696 cm2 

c. 6369 cm2    d. 6639 cm2 
 

114. 8 Mz;fs; xU Ntiyia ehnshd;Wf;F 9 kzp Neuk; Ntiy nra;J 28 
ehl;fspy; Kbg;gh;. mNj Ntiyia 12 Mz;fs; ehnshd;Wf;F 7 kzp Neuk; 
Ntiy nra;jhy;> vj;jid ehl;fspy; mt;Ntiyia Kbg;gh;? 
a. 20 ehl;fs;   b. 18 ehl;fs; 
c. 28 ehl;fs;   d. 24 ehl;fs; 
Eight men working 9 hours a day can do a piece of work in 28 days. In how 
many days will 12 men working for 7 hours a day do the same work? 
a. 20 days  b. 18 days  c. 28 days  d. 24 days 
 

115. 100 msitfspy; kpfg;nghpa kjpg;G 3.84 fp.fp kw;Wk; mtw;wpd; tPr;R 2.46 
fp.fp. vdpy; mt; msitfspy; kPr;rpW kjpg;G 
a. 1.38 fp.fp  b. 3.38 fp.fp  c. 2.38 fp.fp  d. 6.30 fp.fp 
The largest of 100 measurements is 3.84 kg. If the range is 2.46 kg, then the 
smallest measurement is 
a. 1.38 kg  b. 3.38 kg   c. 2.38 kg  d. 6.30 kg 

 
116. xU Kf;Nfhzj;jpd; %d;W Nfhzq;fspd; tpfpjq;fs; 2 : 4 : 6 vdpy; 
mjd; Nfhz msTfs; 
a. 30˚, 60˚, 90˚  b. 20˚, 70˚, 90˚  c. 40˚, 60˚, 80˚ d. 26˚, 58˚, 96˚ 
The measures of the angles of a triangle are in the ratio 2 : 4 : 6, then the angles 
of the triangle are 
a. 30˚, 60˚, 90˚  b. 20˚, 70˚, 90˚  c. 40˚, 60˚, 80˚ d. 26˚, 58˚, 96˚ 
 

117. 2 3x = + vdpy; 2

2

1
x

x
− d; kjpg;G 

a. 14  b. 8 3   c. 4 3   d. 0 



 

 

If 2 3x = + , then the value of 2

2

1
x

x
− is 

a. 14  b. 8 3   c. 4 3   d. 0 
 

118. ,U ,lq;fSf;F ,ilNaAs;s njhiyT 
2

61
3
 fp.kP. xU ,U rf;fu 

thfdk; me;j njhiyitf; flf;f 
7

2
15
 kzp Neuk; vLj;Jf;nfhs;fpwJ vdpy; 

,U rf;fu thfdj;jpd; Ntfk; 
a. 25 fp.kP  b. 40 fp.kP  c. 35 fp.kP  d. 20 fp.kP 

The distance between two places is 
2

61
3
km. If a two wheeler takes 

7
2

15
hours to 

cross the distance, then what is the speed of the two wheeler? 
a. 25 km  b. 40 km  c. 35 km  d. 20 km 
 

119. 1, 2, 5, 6, 14, 24, 30, 120, ……. vd;w njhlhpd; mLj;j vz; 
a. 91  b. 55  c. 720  d. ,tw;Ws; vJTkpy;iy 
The next number of the sequence 
1, 2, 5, 6, 14, 24, 30, 120, …….. 
a. 91  b. 55  c. 720  d. None of these 
 

120. 
4 7 5 3 7

5 2 2 4 8

 
+ ÷ − × 

 
 f;F rkkhdJ 

a. 
6

1
20
  b. 

5
3

20
  c. 

11
2

20
  d. 

1
5

20
 

4 7 5 3 7

5 2 2 4 8

 
+ ÷ − × 

 
 is equal to 

a. 
6

1
20
  b. 

5
3

20
  c. 

11
2

20
  d. 

1
5

20
 

 
Part V – Environmental Studies 
 
121. Marconi invented the radio with the help of the invention made by 
 a. Vikram A. Sarabhai  b. Jagadish Chandra Bose 

 c. Charles Babbage  d. Pascal 
 fPo;f;fhZk; xUthpd; fz;Lgpbg;gpd; cjtpNahL khh;Nfhzp NubNahit 
fz;Lgpbj;jhh; 

 a. tpf;uk; A. rhuhgha;  b. n[fjP]; re;jpu Ngh]; 
 c. rhh;y]; ghgh[;   d. gh];fy; 



 

 

 
 
122. Identify the wrong pair with reference to milching animals  
 a. Gir, Sindhi    b. Jersey, Caronswiss 
 c. Gir, Murrah    d. Sindhi, Jersey 

 gpd;tUk; fwit khL ,izfspy; jtwhd ,iz vJ? 
 a. fph;> rpe;jp   b. n[h;[p fhud;];tp]; 
 c. fphp> Kuh   d. rpe;jp> n[h;rp 
 
123. A typical example of visual, non project 3 –D aid is 
 a. Realia     b. Television 
 c. OHP     d. Radio 

 fz;ZW> tPo;j;jh Kg;ghpkhz cgfuzj;jpw;F vLj;Jf;fhl;L 
 a. ep[g;glk;     b. njhiyf;fhl;rp   

 c. Nky;gl tPo;j;J (OHP)   d. NubNah 
 
124. Which of the following is the odd criterion of a good test 
 a. Objectivity    b. Acceptability 
 c. Reliability    d. Clarity 

 xU ey;y Njh;Tf;F ,y;yh fhuzpia milahsk; fhz;f. 
 a. Gwtaj;jd;ik    b. Vw;Wf;nfhs;Sjy; 
 c. cz;ik jd;ik   d. vspik 
 
125. The philosophy behind the project method is 
 a. naturalism     b. idealism 
 c. constructivism    d. Pragmatism 

 nray;jpl;l KiwapYs;s jj;Jtk; 
 a. ,aw;if nfhs;if    b. fUj;jpay; nfhs;if 
 c. cUthf;Fk; nfhs;if   d. gadsit nfhs;if 
 
126. Melagiri hills is situated in the district of 
 a. Krishnagiri  b. Erode c. Dindigul  d. Coimbatore 

 Nkyfphp kiy fPNo Fwpg;gpl;l ve;j khtl;lj;jpy; mike;Js;sJ? 
 a. fpU~;zfphp    b. <NuhL 
 c. jpz;Lf;fy;    d. Nfhak;Gj;J}h; 
 
127. Mamallapuram and chengalpattu are famous for which work 
 a. Weaving of silk   b. Soap stone carving 

 c. Red and black pottery  d. Granite carving 



 

 

 khky;yGuKk;> nrq;fy;gl;Lk; fPo;f;fhZk; fiyfspy; vjw;F Gfo;ngw;wit? 
 a. gl;L nerT      

 b. Nrhg;G fy; nrJf;Fjy; 
 c. fUg;G kw;Wk; nre;epw kl;ghz;lk; nra;jy; 
 d. fpuhidl; nrJf;Fjy; 
 
128. A student after receiving the content of a subject, is able to analyse the 
content. The behavioural change belongs to the domain/s 

 a. cognitive and affective  b. cognitive only 
 c. affective and psychomotor  d. affective only 
ghlg;nghUis Ghpe;Jnfhz;lgpd; khztd; ghlj;ij gFj;jha;T nra;a 
KbfpwJ?  ,e;j elj;ij khw;wk; Fwpf;fpw gFjp 

 a. mwpjy; gFjp kw;Wk; czh;r;rp gFjp 
 b. mwpjy; gFjp kl;Lk; 
 c. czh;r;rp gFjp kw;Wk; Kaw;rp rhh; gFjp 
 d. czh;r;rp gFjp kl;Lk; 
 
129. “Lesson plan is the outline of the important points of a lesson arranged in 
order in which they are to be presented to the students by the teacher”. This 
definition is of 
a. International Dictionary of Education 
b. Lester B. Stands 
c. W. M. Ryburn 
d. Bining and Bining 
ghlj;jpl;lk; vd;gJ xU ghlj;jpd; Kf;fpakhd Fwpg;Gfis thpirg;gLj;jp 
khzth;fSf;F Mrphpah; vLj;J nry;Yk; Kiw’. ,t;tiuiaiw mspj;jJ 

 a. fy;tp cyf mfuhjp b. ny];lh; B. ];lhz;l;]; 
 c. W.M. iugh;d;   d. gpd;dpq; mz;L gpd;dpq; 
 
130. Which chart is used to present the growth of a family right from their 
ancestors 

 a. Flowchart    b. Tablechart 
 c. Treechart    d. Timechart 
 FLk;g re;jjp tsh;r;rpapid mth;fspd; Kd;Ndhh;fspy; ,Ue;J njhpag;gLj;Jk;    
 tiuglk; 

 a. Nghf;F tiuglk;   b. ml;ltiz tiuglk; 
 c. fpis tiuglk;   d. fhy tiuglk; 
 



 

 

131. A child is suffering from bleeding gums and loosening of teeth. The names of 
the disease and the vitamin that is deficient are 

 a. Scurvy, Vitamin C   b. Haemorrhage, Vitamin K 
 c. Rickets, Vitamin D   d. Pellagra, Vitamin B5 

 Foe;ijfspy; Vw;gLk; <Wfspy; ,uj;jk; tbjy; kw;Wk; gy; tpOjYf;F  
 fhuzkhd itl;lkpd; gw;whf;Fiw Neha; 
 a. ];fh;tp> itl;lkpd; C  b. `PkNu];> itl;lkpd; K 
 c. hpf;nfl;];> itl;lkpd; D d. ngy;yfuh> itl;lkpd; B5 
 
132. The part where cones are densely packed within the right eye is 
 a. sclerotic coat    b. choroid coat 

 c. lens     d. fovea 
 tyJ fz;zpd; vg;gFjpapy; $k;G nry;fs; mlh;j;jpahf fhzg;gLfpwJ? 
 a. ];fpspNuhl;bf; ciw  b. Nfhuha;l; ciw 
 c. nyd;];    d. /Nghtpah 
 
133. A student of IVth class placed certain things in a first aid box. Find the odd 
man out 

 a. foreceps    b. sodium chloride 
 c. syringe    d. pair of scissors 
 ehd;fhk; tFg;G gbf;Fk; khzt; KjYjtpg; ngl;bapy; fPo;fhZk; nghUl;fis    
 itj;Js;shd;. ,jpy; jtwhdJ vJ? 

 a. ,Lf;fp    

 b. Nrhbak; FNshiuL 
 c. Crp %yk; kUe;J cl;nrYj;Jk; fz;zhb Foy; 
 d. fj;jphpf;Nfhy; 
 
134. The plant that has the best air purifying capacity in the world is 
 a. valisneria    b. bamboo 

 c. palm     d. jatropha 
 cyfpYs;s jhtuq;fspy; kpfj; jpwk;gl fhw;iw Rj;jpfhpf;Fk; jd;ikAila  
 jhtuk; vJ? 
 a. thyp];ePhpah  b. %q;fpy; 
 c. gid    d. [l;Nuhgh 
 
135. A man is riding a bicycle. The motion(s) observed is(are) 
 a. only linear motion    b. only circular motion 
 c. oscillatory and circular motions  d. linear and circular motions 



 

 

 
 xU kdpjd; irf;fpspy; rthhp nra;Ak; nghOJ fPo;f;fhZk; ,af;fk; (q;fs;)   
 nray;gLfpwJ(fpd;wd)? 

 a. Neh;Nfhl;L ,af;fk; kl;Lk;  b. tl;l ,af;fk; kl;Lk; 
 c. miyT kw;Wk; tl;l ,af;fk;  d. Neh;Nfhl;L kw;Wk; tl;l ,af;fk; 
 
136. The permanent employee of the village Panchayat is the  
 a. President of the Panchayat   
 b. Vice President of the Panchayat 
 c. senior most citizen of the Panchayat 
 d. Secretary of the Panchayat 

 fpuhk gQ;rhaj;jpy; epue;jkhd gzpahsh; 
 a. fpuhk gQ;rhaj;J jiyth; 
 b. fpuhk gQ;rhaj;J Jiz jiyth; 
 c. gQ;rhaj;jpd; %j;j Fbkfd; 
 d. gQ;rhaj;jpd; nrayh; 
 
137. If a person wants to cross the road where there is no zebra – cross, he has to 

a. look to his right and cross the road 
b. first look to his right, then left and then right again and cross the road  
c. look to his left and cross the road 
d. first look to his right, then left and cross the road. 

 ‘thpFjpiu flf;Fk; ghij’ ,y;yhj ,lj;jpy; xUth; rhiyia flf;Fk;NghJ  
 ftdpf;f Ntz;baJ 
 a. tyJ gf;fk; ghh;j;J rhiyia flf;f Ntz;Lk; 
 b. Kjypy; tyJgf;fk; ghh;j;J> gpd; ,lJ gf;fk; ghh;j;J> mjd; gpd; kPz;Lk;  
 tyJgf;fk; ghh;j;J rhiyia flf;f Ntz;Lk; 
 c. ,lg;gf;fk; ghh;j;J rhiyiaf; flf;f Ntz;Lk; 
 d. Kjypy; tyg;gf;fk; ghh;j;J> gpd; ,lg;gf;fk; ghh;j;J rhiyia flf;f  
 Ntz;Lk;. 
 
138. The wheel (chakra) on our National flag has the colour and the number of 
spokes respectively are 

 a. Navy blue, 24    b. Royal blue, 24 
 c. Peacock blue, 22   d. Cyan, 22 
ekJ Njrpaf;nfhbapy; mNrhfh rf;fuj;jpy; cs;s epwKk;> mr;rf;fuj;jpy; 
cs;s Muq;fspd; vz;zpf;ifAk; KiwNa 

 a. mlh; ePyk;> 24   b. uhay; ePyk;> 24 
 c. kapy;Njhif ePyk;> 22 d. rahd;> 22 



 

 

139. Bow and arrow was the emblem of which kingdom 
 a. Cholas     b. Chalukyas 
 c. Cheras     d. Pandyas 

 tpy;Yk;> mk;Gk; ve;j murUila rpd;dq;fshf tpsq;fpaJ? 
 a. Nrhoh;fs;   b. rhSf;fpah;fs; 
 c. Nruh;fs;   d. ghz;bah;fs; 
 
140. The traveler who came to India through the Kashmir valley during the reign 
of Harshavardhana was 

 a. Fa – Hien  b. Hieun – Tsang c. Ibn Batuta   d. Megasthenes 
 `h;~h; fhyj;jpy; fh~;kPh; gs;sj;jhf;F topahf ,e;jpa ehl;bw;F te;j  
 ntspehl;L gazp 
 a. gh`pahd;  b. Athd; Rthq; c. ,gd; gJ}j;jh d. nkf];jdp]; 
 
141. Double fertilization occurs only in 
 a. salamander     b. fresh water fishes 
 c. all seed producing flowers  d. aquatic plants 

 ,ul;il fUTWjy; ,jpy; kl;Lk; fhzg;gLfpwJ 
 a. rhykhz;lh;      b. ed;dPh; kPd;fs; 
 c. vy;yh tpijfis cUthf;Fk; G+f;fs; d. ePh;j; jhtuq;s; 
 
142. The importance of the year 1983 with reference to wildlife is 

a. Indian Board for wildlife was formed 
b. National wildlife Action plan was introduced 
c. Wildlife Protection Act came into force 
d. Establishment of National Parks by the Government of India 

 tdcaphpdq;fis nghWj;J 1983k; Mz;L Kf;fpaj;Jtk; tha;e;jJ. Vnddpy; 
 a. tdcaphpd ghJfhg;G thhpak; cUthdJ 
 b. Njrpa tdcaphpd nray;jpl;lk; mwpKfg;gLj;jg;gl;lJ 
 c. tdcaphpd ghJfhg;G rl;lk; eilKiwf;F te;jJ 
 d. ,e;jpa murhy; Njrpa G+q;fhf;fs; cUthf;fg;gl;lJ 
 
143. The exotic variety of honeybee is 
 a. Apis dorsata    b. Apis florae 
 c. Apis indica    d. Apis adamsoni 

 ,jpy; vJ ntspehl;L NjdP tif? 
 a. Vgp]; Nlhh;rl;lh   b. Vgp]; GNshhpNa 
 c. Vgp]; ,z;bfh   d. Vgp]; Mlk;Nrhdp 



 

 

144. Which one of the following is not true in respect of water 
a. Water in the aquifers is not useful to human beings 
b. Most of the fresh water reaches to the ocean through rivers 
c. The moisture in the soil indicates the presence of water 
d. Precipitation in the form of rain or snow provides fresh water to our earth. 

 gpd;tUk; $w;Wfspy;> ePiu gw;wpa jtwhd $w;W vJ? 
 a. ePh;Cw;WfspYs;s ePh; kdpjDf;F gad;gLtjpy;iy 
 b. MWfspd; %ykhf ed;dPh; flYld; fyf;fpwJ 
 c. kz;zpd; <uj;jd;ik> ePh; cs;sij czh;j;JfpwJ 
 d. kionghopT my;yJ gdpnghopT %ykhf epyj;jpw;F ed;dPh; te;jilfpwJ 
 
145. While burning the fuels the pollutant that reacts with Hemoglobin and makes 
the man leading to death is 

 a. SO2  b. O3  c. CO  d. CH4 
 vhpnghUis vhpg;gjd; %ykhf ntspapLfpd;w ______ khR kdpj 
,uj;jj;jpYs;s P̀NkhFNshGypDld; tpidGHpe;J ,wg;G Vw;gLfpwJ 

 a. SO2  b. O3  c. CO  d. CH4 
 
146. Identify the correct match in respect of major plates and smaller plates of 
pangaca respectively 

 a. Antarctica   - North America 
 b. South America  - Africa 
 c. Australian   - Arabian 
 d. Eurasia    - Pacific 

 ghq;fpahtpd; nghpa jl;Lf;fs; kw;Wk; rpwpa jl;Lfs; rhpahf nghUe;jpAs;sij  
 Njh;f: 
 a. mz;lhh;bfh  - tl mnkhpf;fh 

 b. njd; mnkhpf;fh - Mg;gphpf;fh 

 c. M];jpNuypah  - mugpf;fly; 

 d. A+Nurpah   - grpgpf;fly; 
 
147. Equal day and equal night happen on which of the following days 
 a. March 21st, September 23rd  b. May 18th, December 20th 
 c. January 14th, June 16th   d. June 20th, December 28th 

 ,uTk; gfYk; xNu epiyapy; Vw;gLk; ehl;fs; 
 a. khh;r; 21> nrg;lk;gh; 23  b. Nk 18> brk;gh; 20 
 c. [dthp 14> [Pd; 16   d. [_d; 20> brk;gh; 28 
 



 

 

148. The trees that are found in the forests where there is 100 cm of rainfall are 
 a. cedar and oak    b. sal and teak 

 c. pine and walnut   d. babul and palmyra 
 100 nr.kP kio nga;Ak; fhLfspYs;s kuq;fs;? 
 a. rplhh; kw;Wk; xf;   b. rhy; kw;Wk; Njf;F 
 c. igd; kw;Wk; thy;el;  d. ghG+y; kw;Wk; gid 
 
149. The metal, first used by human beings and the Indian State where it is found 
in plenty are 

 a. Iron, Orissa    b. Copper, Andhra Pradesh 
 c. Iron, Madhya Pradesh  d. Copper, Rajasthan 
 kdpjdhy; Kjd;Kjypy; gad;gLj;jg;gl;l cNyhfk; kw;Wk; ,J mjpfkhf 
cs;s ,e;jpa khepyk;  

 a. ,Uk;G> xhprh    b. nrk;G> Me;jpu gpuNjrk; 
 c. ,Uk;G> kj;jpa gpuNjrk;  d. nrk;G> ,uh[];jhd; 
 
150. As per which Article, the president of India is empowered to declare financial 
emergency 

 a. Article 352    b. Article 356 
 c. Article 360    d. Article 63 

 ,e;j ruj;Jgb> ,e;jpa [dhjpgjp epjp neUf;fbapid mky;gLj;j mjpfhuk;  
gilj;jth;? 

 a. ruj;J 352  b. ruj;J 256  c. ruj;J 360 d. ruj;J 63 
 
 

 


